Math 367 In-class Assignment 9
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Prove the Strong Exterior Angle Theorem 90: The measure of an exterior angle
of a triangle is equal to the sum of the measures of the two opposite interior angles.

By Treneen €7 §leo)s Bles)y Blen) = 187

ﬁ‘d Thacooan § Bret)+ Dlet) = &7

V(OZ ) 0 e . ./52,_\)/
Blecr)r Al )+ G «y) = Jret)r B

6 J”‘Hm‘cﬂa bi2) ‘gpfbm bofn niddec, 74\,\,;( Mt

Sus)+ DE] = Hrzt],




Do Problem 101: An isosceles right triangle is a right triangle with congruent legs.
(a} Let = be the length of the legs of an isosceles right triangle. Show that the
hypotenuse has length #1/2 and that the base angles both have measure 45°.
(b) Find the area of a square with diagonal of length d.
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